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11. Heptagon 12. Adjacent 13. Parallelogram
14. Equal 15. Pentagon 16. Bisect
17. Rhombus




1. (0 2. (a) 3. (0 4. (a) 5. (¢ 6. (d)
7. (a) 8. (0 9. (a) 10. (a) 11. (a) 12. (b)
13. (b) 14. (b) 15. () 16. (d) 17. (d) 18. (b)
19. (b) 20. (d) 21. (o) 22. 23. 9 24. 4
25. n+l 26. 30 27. i@ 28. Wi 29. W= 30. B
31. ¥99  32. 4 33. 1:4400000 34. 7 35. 7
36. W ¥ 37. 33 38. 12 39. U9  40. FahTEy
41. (a) a9
RN
IR G
(b) (i) e
(i) ¥R ¥
(iii) T 9
(©) (i) e
(i) ¥R ¥
(iii) T 9
(d) (i) e
(ii) @< °
(iii) TR ¥
42. 3TA 43. IAT 44. TF 45, ITI 46, JATA 47. IEA
48. ITA 49. ITAF 50. @ 51. IFA 52, ITA 53. TA
54. 394d 55. ¥4 56. @ 57. 3IWA 58. A 59. TA
60. ¥ 61. ¥H
62. (a) 6,8,12, 14, 14
(b) 4,4,6,8,8
() 5.5,8,10,10
(d 5.5,8, 10,10
(e) 6,6, 10,12, 12




63.

65.

66.

67.

68.

69.

()

(g)
(h)
(i)

()

(k)
(D

(a)
(b)
(c)
(d)
(a)
(d)
(a)
(d)

(c),

(a)
(e)
(i)

(@)

(b)

(c)

7,7,12, 14, 14
5,6,9,11,11

6, 8, 12, 14, 14
6, 8, 12, 14, 14
7,10, 15, 17, 17
10, 16, 24, 26, 26
9, 14, 21, 23, 23

4
6

9

8

1 (b) =i &

9 e) 4

1 (b) 2

16 (e) 18

(0, (m) = (k) SgHeH Tl T

10 (b) 10

11 M 9

113 () 66

e W 9 uve 99

/N /N
ARG

(c)
§)
(c)
§

(c)

(g
(k)

g T
12
g T

10 @@ 9
11 (h) 110
15 nm 14
FW W g

Q



(d)

(e)

0

(@)

(h)

(1)

()




70.

71.
74.

75.
76.

77.

79.

80.

81.

82.

1l 1l 1l 1l 1l
w oo © oo =

—

Hehd- TSR fqufte @i=m

72. & 73.22

(c) 16

78.

Ll

foem, fyufos



83.

84.
85.

86.

87.

88.

89.
90.

92.

F=n+1
V =n+l1
E =2n

o9, =

(a) 31 el g STeANifud SeH
(b) ¥k SN AANTIG WSt foew
A

(@) =

(b) =9

() dem

(d) =ik
(e) =R faufys

(0 P firss

(@) 2.1 Tws

(b) TSRt ATSA el [ qen 11
(c) Tk A

(d) =T B

(e) 6




93.

94.

95.
96.
97.
98.

99.
100.

101.

a) TH 3R HHSEN ST

b) fH®R sifecfam, da, TRmEE IR

c) ST hifd Am

a W HSHh
e qrl, 7l TS 3R
g

b) wfemm, Jw- 27
B T, B X 9d

c) g mm

d) ¥HI-19, B TR 9RA

e) HH- 27

) WFRI-26

g) 4

1:2

5:1

25km

(1) 60km

(2) 20km

(3) 35km

10mm

(@ lcm =4m

(b) 1 inch = 9feet

12cm

(D) srwarT, ©er iR wRelt

7. SHEE ugen

o
1. Prism 2. Pentagonal
5. Cuboid 7.
8. Convex

EIEL]
2. Pyramid 3. Diagonal
4. Sphere 6. Cone
7. Two 9. Vertex
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Tetrahedron



Tfura

1. (b) 2. (b) 3. (b) 4. (d) 5. (d) 6. (b)
7. (d) 8. (a) 9. (a) 10. (b) 11. (a) 12. (b)
13. (d) 14. (b) 15. (o) 16. (o) 17. (b) 18. (c)
19. (a) 20. (b) 21. (a) 22. (o 23. (o) 24. (a)
25. (o) 26. (o) 27. (b) 28. (b) 29. (d) 30. (b)
31. (d) 32. (0 33. (a) 34. ¥HH 35. ®HUMHS

36. ab+ac 37. (a-b) 38. (a—-b) 39. 2ab-2b> 40.a> + b?

41. ab 42, 9895 43. x 44. 2mn (9 + 5p)

45. (2y-3) (2y-3) 46. 2x°z 47. 24 xyz 48. (67 + 37), 3120
49. (103+102), 205 50. 12 »y? 51. 8x°

52. -37 53. 2 54. 16 (a® + b?)

55. faw 56. 3y 57. x+1 B8. 2(x+2y) 59. IHA
60. JIT3 61. 94 62. JATIT 63. I 64. 94 65. 3ITA

66. 3T 67. JIHF 68. §F 69. I 70. FEFT 71. AHEA

72, §F 73. AT T74. IEI T7H. A 76. €I 77. 38X
78. A 79. I 80. A
81. (i) 10a?bc — abc? (i) 10ax - 2by + 2cz

(iii) 4xy?z? - 6X°y*z — 3x%yz? (iv) 3 +2xy+ 112+ 4

(v) —p*-10p*-2p>-6p-5 (vi) 3a? - ab + 3ac + 2bc — 2b?
(vii) 6ab + 21ac + 6bc
82. (i) - 12a2b?*c? (i) —9x2 + 10xy + 3y?
(iii) 2ab?*c® - 14a?b?*c + 7a*bc? (iv) -7t*+ 123 -6 + 4t + 5
(v) 3ab - 7bc + 5ac + 10abc (vi) — 33p?> - 77 pq

(vii) — 3ap - 3pr- 3pq- 3px




83. (i) 91p*qr (ii)
(iii) 255xy°z? (iv)
(V) - 152212 + 332 (vi)
(vii) 7p?qr - 7pg*r + 7pqr® (viii)
(ix) pg-7p+6q-42 (x)
(xi) a'? (xii)
(xiii) 21ab'® (xiv)
(xv) a*- bt (xvi)
(xvii) p?q? — 4pqr + 4r? (xviii)
. 19
(xix) 3p* -~ PP - 20" ()
(xxi) 6x* —4x° - 23x° + 44x — 24 (xxii)
84. (i) 18x% + 8y (i)
49 , 81 ,
(iii) o1 a” ab+ 29 (iv)
(v) 7.2 pq (vi)
(vi)) x* (viii)
(ix) -2b° (x)
(xi) 40.5a%+ 27ab + 4.5b? (xii)
(xiii) s*t?- 282 + gt
85. (i) »2y? + 2xy%z + y?z2 (i1)
16 , 25 5
iii) —a“ +2ab+—>b i
(iii) s a a T (iv)
6 , 8 25 ,
—p +—pg+— i
(v) s Pt Patd (vi)

438 uvT USfteRt TIUTA - Hel 8

51x3y°Z°

- 715 a*b’c?

ab*c + a*bc?

BYz2 - Yz + By
0

-91 S%3

a?bh? + 2abc + &

1, 17 2
—x"+——xy-2
2 72 DY

2x% - 3x* - 23x + 42

2x + 7x- 13y -2y*>- 15
24 xy

9 16
Ex2+3y2
12.5m? + 4.5¢
a’bh? + &2

b®- 49b + 7b?

P’ + 2p@’r + ¢*r?

X2 - 22Xy + X2yt

4 > 9 >
—Xx" =2xy+—
9 y 4y

X+ 10x+ 21



(vii)

(ix)

(xi)

4x2 + 4x - 63

4ty

9 9

4 , b°
_a —_——
9 9

(xiii) a* + 2a2b? + b*

(xv)
(i)

(iv)

86.

(vii)
(x)
(xiii)
(xvi)
(xix)
(i)

(iv)

87.

(vii)
(x)
(i)

(iv)

88.

(vi)
(viii)
(x)
(xii)
(xiv)

(xv)

0.81p* - 0.9pq + 0.25¢

2704 (i1)
9604 (v)
2491 (viii)
10088 (xi)
98.01 (xiv)
1040 (xvii)
12800 (xx)
18a (i1)
lmn (v)
3xyz (viii)
1

6b (a + 20 (ii)

v)
xy Py + xy* =y + 1)

Imn (Im- mn - ln)

a(2a®? - 3ab + 5b*> — b)
xyz (24 xz? - 6y?*z + 15xy — 5)

x+y (l+m) (xiii)
(x+ 2y 2x-1)

(y-42 (y-2x (xvi)

2
6 2.3 3

1
(viii)) —x

25 5 16

(x) 4x%2 - 20xy + 25y
(xii) x* - y*

(xiv) 49x% + 70x + 25
(xvi) 1296a* + 2401 b* - 3528a%b?

2401 (iii) 10609
1010025 (vi) 990025
2756 (ix) 9975
10403 (xii) 10094
99.96 (xv) 103.02
3860 (xviii) 94
89000 (xxi) 458000
3xy (iif) y

7par (vi) ry
3prs (ix) 13xy
-ylx+a (iii) x (ax® - bx + ¢

3r (pq - 2p?q¢*r - 51)

(vii) 2xy (2y - bx + 8xy + 1)

(ix) 3pgrs (21pgr— 3qrs + 5prs — 20pgs)
xi) (a+ 1) (@®+ 1)

xXa+x(a-x (a+x

X (ax+ by) (y- 2




SAEHTAT

(xvii) (@®> + a + bd) (b + 0 (xviii) (2a + 3b) (x + y) (x + y)
89. (i) (x+ 3) (x+ 3) (i) (x+6) (x+ 6) (iii) (x+7) (x+7)
(iv) (x+1)(x+ 1) V) 2x+1)(2x+ 1) (vi) (ax+ 1) (ax+ 1)

(vii) (ax + b) (ax + b) (viii) (ax + by) (ax + by)
(ix) 2x+3) 2x+ 3) (x) (4x+ 5) (4x + 5)
(xi) Bx+4) (Bx+ 4) (xii) (B3x+ 5) (Bx + H)

(xiii) 2x (x + 6) (x+ 6) (xiv) x (ax + b) (ax + b)

(V) X2 (2x+3) (2x+ 3) (xvi) an (§+2j (xvii) (3x+§j (3x+§j

90. (i) (x-4) (x-4) (i) (x-5)(x-5) (i) x-7)(y-7)
(iv) (p-1D (-1 (v) (2a-b) (2a-b)vi (py-1) (py-1)
(vii) (ay-b) (ay-b) (vil) (Bx-2) Bx-2) (i) Ry-3) Ry-3)
2
) (gﬂj Gﬂj (xi) ylay~b)(ay-b) (xi) (3y ‘2_3xj
91. (i) (x+ 13) (x+2) (i) (x+5) (x+4) (iii) (x+ 5) (x + 13)
iv) (p+ 1) (p+13 & Y+7)@y-3) ) [Y-5 (y+3)
(vii) 9+ (2 + X (viii) (x-7) (x-3) (ix) (x-12) (x-5)
® x+11) (x-7) &) (Y+4) (y+3) (i) (p-15) (p+2)
(xiii) (a — 20) (a + 4)
92. (i) (x-3) (x+ 3) (i) (2x - By) (2x + 5y)
(iii) (2x- 7y) 2x + 7y) (iv) 3a*b (b - 3a) (b + 3a)
V) 7a(2y-5x9 (2y + 51 (vi) (Bx-1) (Bx+ 1)

X y X y
(vii) 25a (x-1) (x+ 1) (viii) (E_gj(ng

(ix) 2(?—461)(%%61} x) (7x-6y) (7x + 6y




(xi)

g (y _3 (y %j (xi) @—25) @

1
+25j xii) 5(%%) G %j

. (zx_z j (EHE j . E_Zj (sz

(xiv) 3 4y 3 4y (xv) XV 3 4 3 4

5 (1 4 1 4

xvi) 1lxy (1lx-y (11x+y  (xvi) b 50—70] [EG+7C]
(xviii) b(2a-b) (2a® — 2ab + b?) xx) x-Dx+1D)+1)

(xx) (y-5) (y+5) (y*+25) (xxi) p(p-2)(p+2) (p*+4)
(xxii) (2x-3) 2x+3) 4x® +9) (xxiii) (x-y) (x+y) &+ 13
(xxiv) (y-3) (y+3) (> +9) (xxv) (2x - 5y) (2x + 5y) (4x* + 25y
(xxvi) (a-2b+ 0 (a-0 (xxvii) 8 xy (2 + y?)

(xxviii) (x-y) (x+y) (2 + 2+ 1) (xxix) 2a (2a-1) 2a+ 1)
boog) | X0 || X bocd) (3x— 3y —2) (Bx + 3y + 2)
XXX 10 10 XXXi x-3y-2z) (Bx+3y+z

93. (i) X-23Rx-4 (ii) x—13Rx-2 (iii) X-23x-5

(iv) x+ 20 3R x - 1 (V) X+ 53R x + 4

3 11030%

94. (i) 3x%y (ii) 4% (iii) - 17 bc  (iv) %
95. (i) r—2pqgr? (ii) _7ax2+§x—§ (i) @2 +x? - P° + 1

(iv) LB

z X

96. (i) x-9 (i) x+12 (iii)) 2x (iv) 3x-2

v) 3lx+4) (Vi) x-2 (vii) »® + 25
97. 2x+ 3y 98. 3x+ 4y 99. x+ 4 100. y-4
101 x+3 102, on(i+)  108. (¢ +25) (x-5)
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104.

106.
108.
114.
115.

117.

120.
121. Hohd x4 -x2+1 =X +2x% + 1 - 2

7xy (¢ + y*)
42 — 9 =t gTE, 3591 o1 ThTE

100 109. 200

i 62

105. T x® + 8x+ 16; 3T 196

(ii)

143

107. 44 (ab - b -2ac¢)

110. 225 111. 72

(iii)) 12

112, 12

(iv) 48

3a2+ ab + 7ac + 2b?> - 6bc - 42 116. -b®* + 2b> + 7b - 8; 16

1 1
51 118. (H;)(H;%j 119. (P + ¢ -pqg (P> + ¢ + pqg

(i) 8 (ii) 300

122. Side = 25%E x=5
10x (2x + 1) = =&Te
(ii) - (c)

124.

125. (i) - (b)
(D) s

1. BINOMIAL
4. TERM

7. MONOMIAL
10. INTEGERS
TohTs 8

1. (o) 2.
7. (a) 8.
13. (a) 14.
19. (b) 20.
25. (a) 26.
31. (b) 32.

(@)
(c)
(b)
(d)
(d)
(c)

11.

15.
21.
27.
33.

=2+ 102 -x°
(iii) - (a)

POLYNOMIAL 3. EVALUATE
GCF 6. TRINOMIAL
QUADRATIC 9. FACTORS
LIKE 12. DEGREE

(b) 4. (a) 5. (¢) 6. (0
(c) 10. (a) 11. (a) 12. (b)
(©) 16. (b) 17. (d) 18. (d)
(©) 22. (b) 23. (a) 24. (d)
(c) 28. (a) 29. (c) 30. (a)
(b) 34. 10 35. a“’ 36. 1



1
37. 1 38. 56 39. 26 40. SBUTHS 41. ¥IHS

42. 10° 43 (3] - 44 36 45. 1 46. 1.0x 10°®
. . 13 * 99 . . 1.0X
47. 1.234 x 107 48. 34,10,000 49. 23,94,610
50. 67 51. 3*7 81 52. 3! 53. 0.0000003
54. THHA 55. 3.25 x 10'° 56. 8 x 10° 57. 0.00000000023
1
4 10 -2 R
58. 8 59. 2 60. 1223 144 61. 6 62. O
1
63. & 64. 1 65. 49 66. 33IHA 67. I 68. A

69. T 70. 3 71. A 72, AEFI 73. AHI T74. IHEA
75. 33 76. I 77. IEA T78. €A 79. 93 80. 3IHF
81. JHJ 82. ¥& 83. ¥& 84. ¥& 85. ¥ 86. ¥F

87. JAHA 88. JI°F 89. §HF 90. ¥4

1\ 1
91. (i) 10010 (ii) 25 (ii) [—] 92. —5
2 3
3) ~3)° 4y —4y
-8 2 ew | =2 = ek |—=
o5 2 oa [ [ os (4 [
9\ ®
96. (a) (?] (b) 2710 97. - 128
38 7, 1
. . A A ses - . -10
98. (i) 29 (i) 27 (it) -2 (iv) 2710 3R Too1
99. (i) x=-2 (i) x=-1 (i) x= O
49
100. 2.93 x 10 101. (100)° 102.1 103. 1  104. oo
105. x=2 106. 3.9 x 108 107. 5.678 x 10° 108. 1.312 x 10°

109. 6.0 x 10° 110. 1.5 x 107 111. 5.913 x 10° km
112.1.0x 10®%g 113. 3.72 x 10° kg 114. 2.75 x 10'2




115.

(@) 1.673 x 10** gm
(c) 3.34 x 102! tonnes
(e) 5.6 x 10*

(g) 6.3072 x 107 sec

(d) 10'2

7

(-2)

116. x=- 1 117. ——5 118.
(3)
120. 625x° 121. 400 122.
124. (@) 2>* () 2 125. B 126.
127. (a)
IJE H ST T H T
1
1 —_
(1)1
2 2l2)" 2
(1)1
3 4
1(1)_ 1
4 2|8
1 L]_L
5 216) 32
___J_ 1
6 2132) 64
1 L]_L
7 64) 128
1( 1 ] 1
8 ===
128) 256
11, L
9 2256 512

444 uya y=fdte Tfura - e 8

(b) 2.2 x 10 cm

() 5.0 x 10°
(h) 5.0 x 108 cm?

n=1119. n=9
n==6 123. 16 kg
28
v gh @ @ T g
MR 1
) )
111 L
2 4 4 4
111 L
4 88 "8
11 1 L
8 16 16 16
111 L
16 32 32 32
S 1 _1 L
32 64 64 64
D S S
64 128 128 128
1 11 . 1
128 256 256 256
1 1 1 1
256 512 512 512



10

L
2

1 n
o 1-[3)

© aﬁ,wﬁmqgaﬁaam@ # Fre TR n % e T @

52)

1

1024

1

1

1

512 1024 1024

1

Tfura

1
1024

=fgw, s gwa & 2
128. (a)
x 1¢ | 2¢ 3« 4x 5 6% 7% 8% o 10~
1 1 ]2 3 4 5 6 7 8 9 10
2 1|4 9 16 25 36 49 64 81 100
3 1|8 27 64 125 216 343 512 729 1000
4 1|16 | 81 256 | 625 1296 2401 4096 6561 10000
5 1|32 | 243 | 1024 | 3125 7776 16807 32768 59049 100000
6 1 |64 | 729 | 4096 | 15625 | 46656 117649 | 262144 531441 1000000
7 1 | 128]| 2187 16384| 78125 | 279936 | 823543 | 2097152 | 4782969 | 10000000
8 1 | 256| 6561 65536] 390625| 1679616| 5764801 | 16777216 | 43046721| 100000000
=t 1|24, 3,9, |46 5 6 7.9, 8.4, 9,1 0
Eal 8.6 7.1 3,1 2.6
EEQERIl
& 3fh
(b) (1) 6 2) 1 (3) 3 (4) 5 (5) O
© (1) 1 2) 4 (3) 7 4) 1
129. (a) ¥F- 1.99 x 10%° 94 - 3.3 x 10%

& - 4.87 x 10%
e - 6.42 x 10%°
3fi - 5.68 x 10%

I - 1.02 x 10%

=5HT - 7.35 x 10%2

(b)
(c)

130. (a)

"o - 2.279 x 108

gedt - 5.97 x 10%*
ggHfd - 1.9 x 10%7
TLTE - 8.68 x 10%
el - 1.27 x 1022

ggHid - 7.783 x 108

- 5.79 x 107

IR < FEHT < U < IR < AT < FHH < A < WM < FEEfd < /A
qh
I - 1.496 x 108



131.

132.
134.

136.
137.

138.

139.

141.

144.

145.
146.

147.

I - 4.497 x 10° =l - 5.9 x 10°
- 1.427 x 10° I - 2.87 x 10°

% - 1.082 x 10°
(b) T, Ik, Yeail, A, FEEald, i, TEH, T=5H, T
(@) irem (b) ffmm
() eESNH < elifam < ffam < =it < wiem
2.8968192 x 102 m 133. 2.543 x 102 m

0.000000767 135. 9.1093826 x 1028 g
©: TN T 9 faferd
(a) S R wE
1 2
2 22
12 212
(b) 2n

T guE # 1610 fafes™ =1 1.61 x 102
T o9 § 83950 fafaz= a1 8.395 x 104

37.5¢ 140. (a) % (b) 5 31 T@md

1.3 x 10®*m 142. 5.0x 102 m

@ ® = (D—=—(D)
—> —>

1.15 x 10 f&q

(@) 94, SEOR, =

(b) =@ 1.3 x 10°
S9R 1.26 x 10°
e 3.6 x 103
1% 7.0 x 10°

(©) 3.0 x 10° TR

40 cm
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148.

149.
150.

151.
153.

155.

158.

159.

160.

161.
163.

164.

165.

167.

(@) ‘x22 3R ‘x52 TqiH; &

(b) ‘x4 wefH
64 cm
(@ = T
ol f@=me 10,000
(b) o= T
%l fE@=mEa 16,807
(c) @ T
%ol T@=mE 78,125
‘x4%, ‘x8%, ‘x2¢ WA 152. IT Tl W
(a) 378 oeTs &l weer (b) 1 154.
(i) 1 cm (ii) %cmmo.125 cm  156. % cm
(a) ‘x2’ (b) ‘x 2% (c) *x %
(@) 2° (b) 100! (c) 7°!
132
(d) 3* (e) 2° (0 (gj
(@) Bl ‘x 7% (b) & () &
(d) = 'x (0.5 () 3, ‘x12%
‘X 6% 162. 5% x 52
(a) ‘x 2% (b) *x 5% () S5cm
(d 3cm
(a) 22x 52 (b) 32x 11!
() x37 (d 101 x 111
1
x3%, x9? 166. x (5)

ax2b,ax 125, a x 625

3 cm

157. 5



168.

R-MiE)
IREHICEIF) X X X
0.5 1 5 25
3 6 30 15
7 14 70 35
169.
IRCEIRSEIS fafer w9iq
x2° x33 x 52
5 40 135 125
2 16 54 50
6 48 162 150

170. Hehd- TH 8 x 8 firg wifsm)

A9 Y Ufed T A G hITSWl T dfed-
=204 21 4922493 4924492549264 97

= 255

EGMIER]

=28 + 29 + 210 4 211 4 212 4 213 4 214 4 D15

=28 (204 2! + 22 4+ 23 + 254 26+ 27)

=28 x 255

= 256 x 255

= 65280
el dfer
= 216 x 255

= 16711680

28 = 256

216 = 28 x 28

= 256 x 256

TR

448 uys u=fiTeRT TIUTA - AN 8




171.

T 1 = geAt o eAE %1 100 T B

172. 26.32 x 10 kg 173. 1492.16 x 10® m
175. 3 176. o4
27
177. (1) x=-2 2) x=-7 3) x=6
4) x=7 B) x=-1 6) x=4
178. (1) 3 2) o (3) -
2 2 4
179. (1) —(ET (2) (;5)3 (3) (ﬁf (4)
11 7 63
180. (1) 8 2) O (3) 28
15 169
() 3"x ¢ (6) (31)°
(D) 3w
ferameRea 1
1 2(=2Y
2 4 (=2?%
3 8 (=29
4 16 (= 29
(a) 2 (b) 2% (c) 9cuts
(d)
HEA W HEr | Q9% (cm?H)
0 324
1 162
2 81
3 40.5
4 20.25

Tfura

174. 2.7 x 108 sec



10.125

5.0625

2.53125

1.265625

Ol 0| N|] O] O

0.6328125

10 0.3164062

g7 (difed =d9) = A x 27 (Sein

=1,2.3,... 3R A IRf9F &% 7)1

(e) 8192 cm?
Toramarea 2:
(@) | =rUN wr W@ et Wt HWEm
1 3
2 32
3 33
4 34
5 3°
(b) 315, 3" () =Fam 11 =/
foramaneta 3:
waag
Reac
1. SUM 2. EXPONENTS 3. ONE 4. NEGATIVE
TEA

5. ONE TENTH 6. EIGHT
9. MULTIPLICATIVE

1. (b) 2. (b) 3. (b)
7. (o) 8. (b) 9. (d)
13. (o) 14. (b) 15. (a)

450 wvT uSfteRt TiUTa - el 8

7. POWER 8. ONE TENTH
10. STANDARD

4. (a) 5. (b) 6. (a)
10. (b) 11. (a) 12. (o)
16. (o) 17. (o) 18. (b)



Tfura

19. (b) 20. () 21. Ig1 22, 8%  23. 243
24, 9z1= M.P. - S.P. 25. g1 = 3ifhd goA 26. fami/ae

R n
27. Aﬂ)(“ﬁ) 28. fash! X = faad =1 AR 1 10 %
29. U@ ety 30.3ueqg  31.31fhd oI
- 2t
A=P|1+
32. ( 200) 33. TmH, 8 34. 31,000

35. A=9331.20% CI =1331.20 36. T 27,000

1
37. 10%, laaﬁ

40
38. x+— x=1,12,000 (Let C.P. be X

100
140x _ 115 000
100
800
o= 2A2000 X100 _ o0 54
1401
20 2
39. % T 6% 40. 100% 41. ¥ 364 42. 710,000

43. 400% 44. 300% 45. 199.50% 46. g 47. 3IHA

48. 3T 49. 934 50. 3¥F Bl. IFFI B2. AT b3. JHHA
54. ¥ 55. IHF 56. "X 57. ¥ 58. IHFI b9. HHX
60. 37T  61. AFEFT 62. AT 63. TA 64. 9F 65. IHA

66. 840  67. 29.67 kg, 23.73 kg, 10.79 kg 1 10.8 kg (@+)

68. (2)%5,177.50 (b)X 1,280.50 69. (a) I 500 (b) ¥ 10,000

50

70. (a) 10% (b) 3% 71. ¥380 72. 9f55.76 73. ?%

32 2
74. 3703 75. 3019.14 76. (a) 40% (b) ?%=10§% (c) 20%

St 451




SAEHTAT

77. 55.84%, 2.23% 78. (a) ¥664.95 (b) ¥1,243.26

() ¥2,305.38 (d) ¥a1 & =3 6.29 Fa I =3 4,219.88
79. (@) ¥3.200 (b)¥43,200 (c) ¥3,456 (d) 46,656
80. (i) 57.55% (ii) 22.65% 81.%¥35  82. 12.5%

83. faai ger T582.01 84. 882.9 + 3% =3909.39

85. (i) ¥ 5000 (ii) ¥ 1,05,000 (iii) ¥ 5250 (iv) ¥1,10,250
86. M9 27.08% 87. I630 88. ¥7840 89. 7305.38

90. 25,000 91. 7,00,000 92. 0% @9 A1 7 @9 7 B
93. U@ 10.96%, Efd 6.09%, TAdSt 8.20%

94. A. 29.6% FH B.18.96% dfg
C. 500% 3fg D.9.09% dfs5
95. 18.027% 1 18.03% 96. ®fH=0.25%97. 40%
98. ¥864 99. I3561.60 100. 30% 101.%18,400 102.% 800
103. ¥ 1653.60, ¥ 1620
104. A% =3 10,75,840, =0 =¥ 51,840
105. 37 faged = ¥5,243
106. (b) 690 mg (©) 120% (d3:7
107. T90 108. WRA W 7 &7 =9 ol 2|
109. (a) ¥30.60 (b) ¥59.40
110. (a) 380 fafy =0 gea <
(b) fafer 1 : ¥202.50 fafar 2 2: ¥ 190

(c) sra # WR Wt fafy v wwar 7 wbite s fafu g we w9 & W )
111. T & TEH i e o w1 T 900 F& el
112. R T W 20% # (3 yRfwew 9o 3 100 €, @ g1 g1 9ed T 120 ?)1
g 20% HH & gE AR T 120 W 2 (FAfq T 120 H120% = T 24 B)1 I1@:
T g8 U =T 120 - T 24 = T 96 | zEfaw S g Ui yrfwes ufer 9@ w5 2l

452 v y=fiteRt TfuTa - e 8




3
113. 1.93.3% 2. (a) 1 (b) SPF = 4

114. % 12,50,000
115. 9rfweh ¥, X 3.97 9fd kg. T 3.38/kg = &3 A

116. (1) 81.6% (2) 90.4% (3) 85% (4) 84%
(5) 86.67% (6) 82.5% (7) 90% (8) 82%
(9) 86.67% (10) 87% (11) 88.5%
117. 91.43
118. el & R W TeohrE &1 Afud Ffaea Tur HE S
119. 36% 120. 44.4%  121. 37.52kg  122. 4.431 gram

123. 9% I1d #X @ ¢ % 5, 32 *1 forad ufawrd 21
124. s 1 (X) | fos = gfaed 2
Fel: 7.14%

el : 4.84%

(D) 3w, @ i uRferat

TeramereT 1:
CAER |
1. 7200 2. 960 3. 187
THE
1. 10 9fae@ 3. ¥ 1260 4. 800 5. 70
feraTeRea 6:
EQRCES
THA
1. PROFIT 2. COST PRICE 4. DISCOUNT
5. LOAN PERIOD 6. RATE 7. SIMPLE INTEREST
8. PERCENTAGE 9. SALE PRICE 10. PRINCIPLE
11. COMPOUND INTEREST 12. LOSS




3 10

el

(c) 2.
7. @ 8. (d) 9.
13. (a) 14. (c) 15.
18. wyfaaima: 19. e, wfen
21. yfqema: 22. x/y

(d) 3.

16 . .
25. Ea-éawaézoﬁq 26.

28. i 29. fe®

32. 33. GHurd

36. 37. y=8

41.
46.
52.
58.
60.

42.
47.
53.
59.
i
e
e
e
e
e

0.250 km
3T 48.
IFaT 54.

(i)
(iv)
(i)
(iv)
(i)

(iv)

(ii)
v)
(i)
(v)
(ii)
(v)

61.

62.

63. y=30 64. x=128

68. 448 HAfH 69.

1
o= —
(ii) 3
73. 8.75 cm

(i) &7 (iii) &7

L
71. () —=K
m

72.
77.

3 9000
(i) =t

454 uya y=fdren Tifura - e 8

(a) 4. (d) 5. (a) 6. (a)
(d) 10. (b) 11. (o) 12. (a)
(d) 16. (b) 17. dien

20. yfad™, gfaea:
23. i 24, Yfaamyd:
300 27. 96
30. ab, fermi® 31. 3MUE

1 . .
34. 9.6 km 35. Zzaémzaé 15 fa

a4 _b,
39. b

2
a, 40. 480 cm

38. =

43. JATI 44. JFATI 45. JAHA

T 49. @ 50. IFHA 5l. A
¥ 55, 9 56. 3I9A B7. ITA
e (i) Wl (eTe)
e
e (iii) e
FE T
FE T (iii) wfdes
e
3
65. 1=40 66. x=20 67. 39§
540 I 70. 96 km/h
i) I=11 ([ivym=24

74.x=72, y=4575. 280 m76. 60l



Tfura

78. () 27/2=p, 36/13=q  108/25=r

(ii) x = 45, y=72, z=9

(iii) [ = 12, m=20/3, n=12/5
79. (i) 540 (ii) 60 m 80. 12 979 81. 34800
82. 9m 83. 25 fH
84. (i) fasu A, (ii) fagor D, (iii) Tagw F, (iv) g9 G

g § ga9 goht e 1 D.

30 et T T

75 THE T & Tod

85. ST (=12), el (=20), ¥ (=16)
FA AT =12 + 20 + 16 = 48
FAI:P: FA AT =12:48=1:4
FAI:B:Fa amm =20:48 =5: 12
FAI: W : FA a9 =16:48=1:3
YA IV:P:B:=12:20=3:5
PRI IV:P:W:=12:16=3:4
86. 5 fmeral 87. 11 T 88. 21 =fd@ 89. 5km 90. 9.00 ¥a:
91. 1-H, 2-D, 4-F
5-C 6-A 8-E

tIJC)

5

P

3 -
d-
92. 60 g 93. 35 km 94. 249 m [

95. HIH & Ttk C (I@113 m/sec)

TIY o9 TelieeX D (Il 7m/sec)
T B & fau D, 3 = 2.29 km
Tefae C & fae D = 1.820 km
96. 37.5m 97.5 %U 98. & k=1/4  99. 0.6 Y&
100. p%
101. (a) 10: 7 (b) 7: 17 (c) 98 =l Hfsai 102. F9HUE 120 km.
103.1/2 &9 Ta Y& a5
1 %9 3 H1 A
1/6 &9 =+ @1 919
1/2 S1 999 Y& &1 dd




SAEHTAT

2/3 %9 gt
3/2 F€t =TT @HR

1/2 BE 999 T9&

104.8 U Feq9s 105, 125 Ha 106. (a) T 425 (b) 480 U
(D) 3FUANT, T T uelt
4. wEaS
THE CiEE)

1 Directly 2 Inverse

4 Unitary 3 Equivalent

5 Less 6 Constant

7 Proportion 7 Product

9 Decrease 8 Increases
gahts 11
1. (0) 2. (0 3. (b) 4. (a) 5. (b) 6. ()
7. (d) 8. (a) 9. (b) 10. (o) 11. (o) 12. (d)
13. (c) 14. (c) 15. (a) 16. (b) 17. (o) 18. (a)
19. (o) 20. (c) 21. (a) 22. (a) 23. (o) 24. (a)
25. (c) 26. (a) 27. (0) 28. (0) 29. 24 30. I

1

31. 10a? 32. 47 33. h3 6h% 34. 2 35. 50% 36. %03

1
87. nb>  88. - (h,+h)d 39. I 40. 3, TH

41. A, fafv=1 42, 99 48. 2nrth - 44. 2nr (r+ h)
45. nr*h  46. fa=d 47. T 48, GAE 49, A
50. d& 5l. 3:1 bB2. 36:1 53. A 54. 33ITF BH. JITHA

56. 3T 57. 3W¥ B8, THA 59. IHI 60. IFI 61. JATF

1 .
62. Eﬁqmso@m 63. 15m 64. 1050m?2 65. T 528

66. (1)352.8, 468.3m? (2) 106.3m2, 102.80m? (3) 13.35m?2, 235.6m?
67. 10m 68. 26 min 24 sec 69. 7:8 70. 848 m 71. 302m

456 vvT uSfteRr TfUTa - el 8




72.
76.
79.
84.

45cm 73. 0.636 km

53000 = 31 77.
240 m? 80. 600 m2?81.
228.85 cm? 85.

3

86. (a) % 87.

(b) 6y°

90.
92.
93.
96.
99.
103.
107.

r=21cm, h=14 cm

AR w1 27 T
22.68m3,
4500 m?
1400 cm?
1440 108.

22680 L

1848 cm? 109

110. r=0.07m, 0.44m?

112. V=3850cm®, A =110 cm?

30100 = TS
13046 cm? 82.72 cm? 83. 199.5 cm?
88.28 cm?

1:5 88.

94. h=20 cm
97. 64 %1 98.6752 cm?®
100. 1742.72 cm?

104. B W9 105.200 m?®

111.

Tfura

75.

74. 0.264 km/hour 13 m

78. 432m?

1:2n 89. 43.12 m?

91. V = 11440 cm?, ¥R = 91520 g
(a) TR T T T (b) TR 1 3T (¢) TR o1 Teh-<iems

95. 13280 cm?

101. 0.78 m 102. 42038.857
106. 1A

.25 dm, 20 dm, 15 dm

(@)27 T

113. 44.55 @

114.r=8cm, A=603.428 cm?> 115. 11180400 cm?, 11.180400 cm3
116. 6216001 117.1000 118. h=8m,b=10m 119. 1:1
120. 6500 cm® 121. 3 cm? 122. 2016 cm? 123. 2042
124. 401.2 cm? 125. 70 cm 126. 5082 cm?3, 3811.5 cm?®
zehtE 12

1. b 2. d 3. ¢ 4. c 5. ¢ 6. a
7. d 8. b 9. c 10. d 11. @ o™

12. emei@ 13, x 3R yl14. y-31 15, x-318 y-31e] 16, 3T

17. x 18. x-3& 19. 2 20. 3@ 21. 4

22. x-Fene/q« 23. (5, 4)

24. y-fRewm® /=i 25. 7o f95 26. 9@ 27. §A

28. JATF 29. I 30. FFF 31. 94 32. ¥ 33. 3IEF
34. I3 35. (i) d, (i) f iii) e (@{v) a V) b (vi) ¢

SAHATAT
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36.
37.

38.

40.

41.

43.

44.

47.

48.

49.

50.
51.

52.
53.

(a) ii (b) iii (c) i (d) v (e) vi 0 iv
(@) F (2, 0) (b) A (O, 4) () H(5, 1)
(d) C (2, 6) (e) E (3, 3)
A (0, 7.5) B (4, 5) C (7.5, 2.5)
D (11, 0) E (14.5, 6.5) F (18, 9.5)
(@) (A, D) (b) @R, &) (c) (0.e¢)  (d)(c, c)
@7, b)5, (O 42, (A)5Mb)0(c) 7
() B (b) 7&T, =t (¢) 7TEl, Ty
x |1 2| 3] 4 45. T
y |3 6] 9|12 46. @370 (b)5
(a) THEAM =1
(b) THTHE I W FoAdl & 3K 3Tk «e famw § 1 S 7
(c) 3rHuM =il ¥ Wi € 3R -+ fagm & en s 21
@fx |0 1| 2| 3
y 4| 7110
b)x |1| 2| 4| 6
y 0O 1] 3
@ x| 0] 1
yl| o 1| 2
x| O 3
yl| 2| 4| 6| 8
(a) 264 THE (b) r = 35 THE
(a) S FENE FwEl | qoEe °C @
(b) Fem HwTE () Fuar (d) LFR
(e) 9gH H«e - 37°C, T80 ¥«e - 33°C
(f) foEm (g) Fuem
(@) I (b) W CEES! (d) 250 () 125 () 2/3
() wifrn g & fafy= 3=f o fafv= 10 9 @ wra sis
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54.

55.

56.

57.

58.

59.
62.

63.

64.
65.

66.

67.

Tfura

(b) Tfo (c) oISt ok ifrg
(d) =g & (e) 6 () 3 ¥ ¥A (g 2w 1, g
A) (1, 1) E (5, 1) I(4,4)
(B) (3, 0) F (6, 3) J (4, 5)
(C) 4, 2) G (5,5) K (3, 6)
(D) (2, 3) H (4, 3) L (2, 6)
(M) (1, 5) 02, 4) Q (0, 5)
(N) (2, 5) P (1, 2)
(@ 10 am (b) 16 km (c) T TH W feer 2
(d) 40 km (e) 24 km () 2 pm
(¢ 4 km/h, 0 km/h (h) 10 p.m.
@ p=6 (b) g =4
(a) T% ¥<E | 0°C H I=uaq qaH
(b) @R, 25° C (c) g¥ar
(d) ghar
(@) 80 km (b) 5= () 2% (d) 120 f&wHt
(e) 62
D (4, 4) 60. D (3,0) No 61. (2, 2)
(a) fackar A (b) Iaam () wfFeR ¥ Foer
(d) TEem () WTeER 3R IHar
(@) 7°C (b) 6 a.m. (c) 3°C
(d) 5°cto8c (e) Wm:8 3RO a
(@) 90 cm (b) 20cmmore (c) 438 ¥ 699 & o9 H
(a) el 25 min 3R 40 minutes & = =7q9 Ffd Ht 2l
(b) 2.4 km\h
(@) E (0.5, 0.5) J (2, 1.5)
F (2, 2) K (8, 6)
G 4, 2) L (16. 6)
H (2.5, 0.5) M (10, 1.5)
6,0)atx 3 (0, 6) aty 34
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68.

69.

70.

71.

72.

74.

75.

76.

77.

78.

79.

80.

(@ 0-20%=%s (b) 30 F&s (©) 20°C s
(d) 100°C (e 100°c

(a) @ o™

(b) & Th BR ¥ fafu= gmai W == w1 gen o 2l
(© 1p.m. (d 5% %H (e) 20

(a) 5.30 a.m., 6 p.m. (b) 12:30 =2
() M S e (d 3=

(@) 8:45 am for 15 fATe (b) aAfaew o=
(c) 9.00 a.m. W (d) 10 km.

(e) 10 km.

Ao 15 km. 73, @

(a) 18 @d, 17 4 ORSEED

(@) @eTeE

() 0¥ 10 (v 10 fiie)

x| 1 213 4 5

y| 1255 |10 | 15| 20

(a) sIfwan 1990, =AaH 2000 (b) 1996 (©) 4.7%
(a)| Tt 1 (2| 38| 4|5 |6
ERIEET 4 |7 (10| 13|16 | 19
(b) 2™ © UYHy=3x+1
d|x]7 1] 8
y| 22| 25
(@ y =3x-1
(c)|x| 3|8
yl 81|23
(i) e, &l (i) "C (7,5 DI(5,7) (iii) (2, 7)

(iv) (7, 3) (5, 5) (v) (7.5, 3) 2 km




Tfura

(vi) (9, 4) (10, 4) (11, 5) 10. (7, 8) (8, 8) (9, 8) (vii)(5. 3) (6, 2) (7. 2)
81. a) TUHH H dgaEd UHeH ok faw

b) IHF T 1:00 & q agal 8 3R R sear B

c) TR 12 &It 19°C., 99 8 =1t 10°C.

82. a) E @RF b) D ¢) BG3RF, C3RE
d C,D.E e) A ) ASRC

83. (a) TE 3R WX
(b) D-YGEd B-7a A - ARASC - Fal

84. a) IJ b) Hd c) I
d ¥ e) IHEA

85. | ST <A T A s |1 12 (3 |4 |5 [10 |100
Thg TRl kT Wen | x |24 [32 |40 | 48 |56 |96 816
(b) fer@
(c) =

86.| ufF r 4 6 8

ThS AEA| 9 15 | 21
ST TR 1 6 15

2. THIGAS

e

1. Bar graph 2. y-axis 3. Linear graph

4. Origin 5. Coordinates 6. right

7. abcissa

Tehid

8. axes 9. Graph 10. Cartesia 11. Line
12. Ordinate 13. Whole 14. Histogram

15. Gaps 16. Horizontal 17. x-axis




SAEHTAT

Tas 13

1. (0 2. (b) 3. (0 4. () 5. (0 6. ()

7. (d) 8. (b) 9. (a) 10. (d) 11. (b) 12. (a)
13. (o) 14. (a) 15. (o) 16. (a) 17. (b) 18. 9

19. 1,4,7 20. 1 21. 11 22. 9 23. 11

24. A=6,B=3 25. A=1,B=6 26. B=7 27. x=0
28. 011 &1 ] T 29. 11 30. (a+d-b 31. 5
32. 99,A=3,B=6 33. tul 34. ¥& 35. @A 36. ITA
37. 9 38. @ 39. ¥ 40. ¥ 41. 3H A 42. §A
43. IEA 44, A 45. a=3 46. P=63RQ=9  47. 12
48. 33033, 66066, 99099 49. A=9,Z2=8,X=1

50. A=8,B=1,C=3 51. A=6,B=7,C=152. A=6,B=9.

53. A=5,B=6,C=7 54. A=9,B=1 55. A=8,B=9

56. A=7,B=8,C=4 57. A=2,B=5 58. A=9,B=1,C=38
59. A=7,B=2 60. A=7,B=2,C=3,D=1 61. A=9
62. X=8 63. ka@0=3,6,9¢T 64. y=5 65. x=6

66. 2 67. S=8,L=5M=9,G=1 68.5S=6,M=9,B=1,U=0
69. 96, 85, 74, 63, 52, 41, 30

70. (a)555555555 (b) 777777777 () 72  (d) 81

71. )P=7,Q=4 (i M=7,L=4 72.B=4 73. A=4

74. yF =799 0 7
(D) 3uETT, Bt 3R wRferat

3. wiHaS uReld
CiEE) THA
Aa) 7 F) 4
B) 0 (G) 8
) 4 (H) 9
D) 2 m 1
(E) O J o0
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